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	a) Original price 
After increase   shillings
After reduction 
Price after decrease  shillings

b)  Rate =  
Volume of water that flows in 8 mins = 
                                                            
Volume of water as at 5.00 p.m 

Volume as at 5.08 p.m. 
Height of water = 

c) Selling price = 
Profit = 
Commission earned = 
	
M1


M1 A1



M1

M1
M1
A1

M1

M1
A1

	21
	a) 





b) 


c) 



	
B1
M1
B1
A1

M1
M1
B1
A1

M1
A1



Page 6 of 6

image1.png
B=(2,4)

2 C=(4,2)

A"=(-51)

=

||

7
4

'
&
I
&
I
&
L
ES
B
6
1
i
'
o

B'=(-4,-2) N

C'=(2,-4)





